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121177 12 REVD TR IR IRINT 71 RY ROWT 799 ROWP 711902 SIORT RDIORT

o DYIWYAR AR 2INTD DWW 2RI MKRP R 7 210 D' "D wa ay a''Ta
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1) First nnTpn

2)

3)

a)

WTPA WO Counts as X»u because it’s wIp Xnvn to make 2y wip

b) nnmna sw %W counts only as 7109 because it’s not 721N XnwH

Second 7P

a) mwn
1) X"
(1) AR 2R RALVIY W2 QY WOV DWITP W NN WAL XY 22170 YW 07
TR WY
(2) 1w MwyH WOHWw NRMIVY D0 5D OV AR
b) X2°py " P00
1) NN RV RAVIY 712 20D WIHW RIIW TN AW PP2T0R WINI RD 2°10 YW Onn
1Y IMWYL 200 SWIHW NRMINY 1D°0IW D YV AR
C) TRn"M
i) IRPLIT OV 13277 NOX ROAW 7TV ARIN PONMW [0S 272 N VWA WK 1TAY 22T
il) 77970 721707 PRV T 9w 0D HY AR
d) -or™
1) 7780 RO AR RD T R
Third nnTpi
a) MR
i) 901 Xnun 2R PR for 19 but 9o xnvn 9 for wp and man
b) manR "2 RTR 21
i) 921 Xnun 2R & for imnn and 17n but 921R Xnwn 2o for wip
C) Xran



i) 92X Rnvn P01 PR even for wp
4) Fourth mnpn
a) PpPwn are DONR Rnvn
5) Fifth mnpn

a) onan says that less than a noy»an of Ppwn isn’t XKn»MRTA Rdvn but 112777 @ 9
X17w of Ppwn is enough to be xnun

6) Sixth mnpn
a) The mm of 727 ' include a 79013 that 75nn n1A% Ppwn Rnbn aR1NT DR 70197 9
b) meaning that ppwn that are ¥311 a PWRA or @ °1w count as 33277 NWKRA

7) R
a) Nwp to X121

i) How is it that &1ar "1 says that w7p w2 that’s a IR™YY MWK IS Xnvn the wa
w7p that’s a "w°ow to become axmv? 1w

ii) After all both are P22 and 9218 Xnwn 2218 PR
b) First y1°n

i) in the mawn for X1an " there is a 70037 in the level of axmw even if 52 PX
90 Xnun because

(1) the wxn w7p w2 to which R ' refers was Xnw1 by an axmwa ax that
was ®nvn not only the wp “wa to make it a pwxn but also ypwn to make
the 1pwn a PRI too

(2) And xran ' teaches that

(@) it’s °mn to be A the “whw wp wa with the pwr pwn as well as
with the nwxa wip w2

(b) to cause this Ppwn — that’s not P22 — to be R 7°0M to the wp w2
W 5w by making it a "w
c) Second y1n
1) Infact no ypwn were xnwv1 together with the “wa that was ®xnw1 by an axmwvT a8

ii) X121 holds that although 8n>>718T 5218 Xiavn 9o R still 132972 the 17 s that
901 Xnwvn 2% and in the case of X117 ' the nxmv NHOIT to the “wow wip wa
by the nwxa wp w2 adds a axmw of 131297 “1w to the *wHw wip wa

8) nmooin at Ppwn kKT "7
a) anpn of anran

i) For the first y17°n that says the nxmwT a8 was also Ppwn Xnvn it’s not 12anonN
that there was as much as a n>¥°21 of Ppwn

ii) It follows from the nmn7pi that the wxA Ppwn by being 7w with the w2
oW caused the awa to become a »1w only 11277



b) xwp
i) Since the no017 to the xmw even for the first y17°n was only 11297 *1w anyway

i) Why didn’t the & n3x go directly to the second y17°n without relying on the pr7
of 1pwn and answer that 711277 9218 Xnvn 991X so that there is at least the added
R of 13297 w

c) y™n

1) At the point of the x*wp and the first y17°n of the X na the & na didn’t yet
realize that X127 holds that 732777 7218 Xnavn 70I1R

9) X"wann at X>X7 "7
a) Nwp
i) Since the xmx didn’t realize until the second y17°n that 131277 2238 X1 798
i) Why didn’t the X7n3 ask this stronger xwp
(1) Since 921% RnwvA 72X PR even 11277

(@) why is there a npyomn at all between >x» " and *01° "1 on whether it’s
proper to be 7717v 719170 $2IR AW with 8nY 72170 B8 0N 110D 27

(b) when the 7w 7m0 won’t become &nv at all anyway

iii) Note that this x*wp would apply to 727% 72 X7% 27 as well as to X121 because
727X 72 RTX 27 agrees with X1°27 that H21x Xnvn H2R 1R for mmnn

b) v n
i) In fact the x7nx intends its x°wp also for 2°&n "1 and *ov '

i) The &7 mentions its xwp only for wp because wp is mentioned first in the
mwn

10) wni of the Xma at 'a 7ny
a) Tnpato a Xwp by 827 to X2°py " on the 79017 of aRmw to 700 WL 1w

i) ®2nat first assumes that the xmw noOIT to 700 W Hw 1w came about when
the 1w became a ax»W> NWRY when it was 271 in a 71 that was an Ixm:7 a8

b) xwp of X397 to X2°py "

i) why in order for 1nw to become a 1w is it necessary that it be ¥y an ax
RN

i) when based on the 7701 of "3%1n N5 PPwn R 707 DR 201977 93" the 1w
as pwn would become a WK even if it’s ¥a a w

iii) The o vs of this X°wp aren’t relevant at this point
11) mooin at w2 oy "7
a) Xwp to the first Y17 n in our X210 on 'R MY
i) Similarly to the x>wp of &2



(1) Why didn’t the x7n3 ask that if there was °pwn in the case of x1°11 ™

(2) Why did &1ar " need to say that the 1pwn became a pwxA by being ¥ an
TRMIVT AR

(3) When the result would have been the same if the ypwn was ¥ even a
b) v

i) X0 ' says "o010 Hw onn" and from these words it’s ynwn that 83°10 ' says
his 17 applied also before the m7°13 of 127 'm° that include the 771 of 20197 9

12) X"wann at w2 av "7
a) Nwp
i) Then why does a7 at '2 Tny ask his Xwp to X2°py '
ii) After all x2°py "1 also uses the phrase "o°373 5w "
b) y1n

1) Must be that mooIn intends to say that x2°17 "3 could have lived before the
mam of 727 '

i) On the other hand we know that &2°py " lived after these m17°ma
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1) First nnTpn

2)

3)
b)

The m°mx of 227 ' include the 79913 that a%nn NP5 PPwn R 721707 DR 90197 9
meaning that ypwn that are ¥a1 a WKy or a »1w count as 11277 PR

Second 1P

a)

"2 XX VW RAL PR Means "ppwn Raun PRwn PR as well as "R Rnvn oK 1R

3) Third anTpn

a)

b)

We established in the prior m2a°7 that in the beginning of this x>»0 the X7
assumed for &1°27 that w72 12 XX 7w Xnw 1R applies even 11277

And we also established for the first y17°n of the X3 that x1°11 '3 deals with 9ox
"W 5w wTp to which there is a 75017 to "1 by way of 79w with pwra ppwn

4) mooin

5)

a)

TORY

i) Since 12 X1 qww Xnw P& how did the *w 2w w7p wa that’s an 921 become a
nxmwY *wow in the first place

b) nawn
i) w ppwn had been xnvn the wp 9% to be *w ow and x1°an " teaches that by
799w with the other ppwin that’s a WX it’s 70 to be AR 72012 to the 2R
to make it a "
c) Nwp
i) But the " ppwn was also a 131277 nwra based on 121 201971 95 so that the “wa
WwOw wIp was at the start already 11277 *aw as well as Xn»>x7 “wdw
i) So how is there a no017 when the w2 is 79w1 with the other ypwn that’s a
i e
d) yrn
i) X111 ' said his 7 before the 7901 of 17057 nR 50107 95
R"wATn
a) Xwp

i) "wnsays at 'a 7wy at "aop 11 "7 that ppwn that are a IR, WD can be
NnUn a v to be 13277 AR W

i) Why doesn’t m»aoin answer that the w7p “w2a in the case of X1°17 ' was made a
"W 5w by a *%3 that was made a 71277 *aw by W ppwn



iii) And since for this 72 the *w>5w isn’t pwn ¥ the 7901 of 71707 DX 901977 95
1sn’t relevant

b) v

i) moowinat 721 13"7 on v A7 says that wp that’s van in a »aw 22 is 77w only after
X MY

ii) It follows that the w7p isn’t a *w°%w in the full sense of the word
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NOR 15 293770 Bw 2Rt RIROY ORI MAKRP MR ¥ Doy "1 127 ' TP AR XY
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See Ppwn RIRT "7



T qT

"Ny 'nann A" T Mwn

9 PRT 2P 1R AND RAVIW 3N 12 NR ann 772 Y waea [2 TRy 1Y 0T
PPPRAD RAVIR 992 1IRAT AND RAVIW 3NA% 2''57 KD K77 09 2202 W0 »'"'op "o

FIRAIWT AR RPAVIY ANRD 27 9D 9007 KUK JAPD 9"wNDD 20T KRy T
$5'"™Y NoNR B 12 MORT IND IR NN KAV ANRD B

1) First nnTpn
a) mwn

1) 9122109 WOHW RITW 1N 1AW PPRTR WAL KD 02170 YW O R20PY M AP0
TAW NRAIW DY RNV DDA %D 7Y AR N RAL RAVIY

2) Second nnTpi

a) Based on "9%m> Ry1 077 200"

b) nonn that’s ¥a1 a ni Xnv is an IxRmLT 28 the same as the nn Riav
3) Third 7P

a) Xn»xTn only an axmvn AR can be &nvn a *%3 and make it a PR

b) But pwxA ppwn can 112771 be Xnvn a °%> and make it a w
4) wnn of the X ma

a) X of X271 as explained by »"wA

1) It must be that

(1) x2°py "1 deals with a =1 that’s nan» and based on %513 X171 >771 2907 it became
an nxmvI 28 when it was &»vi1 by a n» Xnv who was an axmawn ax

(2) And when 909 "whw 1w is 271 in the 11 there is a o017 that makes the
MY a PR

ii) because

(1) If the 7awn had referred to a o7 71 that’s only a 7w and the 79017 to the
2109 W oW 1w is only to become a "1w

(2) There’d be no need for the 71wn to explain that the 21 was made x»wv by an
nRmvT R of N &nv because even if the 7awn had said ano "xnwl" we’d
know that a 2> — the =1 in this case — can be made a 1w only by an 2x
RN

5) X"wann
a) Xwptoo"wn
i) The nmwn needed to say that the 21 was &nwv1 by an axmv7 28
i) Because otherwise we might have said that
(1) the 11 that is a >2> was made a 11217 *3w by ppwn

10



(2) So that the 21 as "1 can’t be 7o any aRaw to 1w that’s already a v ow
2109

b) v

iii) X217 accepts this 77p1 and agrees that the mawn needs to say the =1 was &nwi by
an IR 2R so the 11 becomes a Pwra and is aRM™Iw 720 to the 1w by making
itaw

Iv) X231 says only that

(1) if the 21 were o1 there’d be no need to say that the 7™ 28 was a X»w
n»

(2) since the fact that the 21 was xnwi1 by a nn &nv would be relevant
(a) only for nonn that
(i) based on %%m> X7 77 27 becomes an R 2R if Xnwvl by a nn Xnw
(ii) but becomes only a nxmaw% NwR if xnvl by a yw

(b) And only if the 7awn needed to deal with a case where the =1 was an
RmMILT 2R and the 79017 to the nxiw of the 1w would be to make the
MY a WK

11



NNULI NV XN A" TN

1D TIOIN 257 W INMWYD AN RAMIMINT WIDWT 92957 32 "2 70 RO 7''72 'own
MOOR OPMMH RDIDT WP D''R DIOD 14D N7 MOINT 12PY '0INT 12NOw 7n 0k 'y
NPV 3''57 700 SO0 20WAT I N DI0DT RAUT MDT MINT ROBRR RNMIINT
"MIRT PIODR MNIRT MO O OPMAD KON NRTY PR UM P IR 0N
7172 3P WA T 1D BT R WADRR 10 IRM™IVR MO n9mb H!'hT '
RO207% FIR2IVRA OO 790 AT IR KDY 7Y PR TRT 1190 9119 11D N20p X2
ROI7 5792 930957 2% R2OR JAPD M1 "1 RUDP N2 AHDT s RO RN 'y "o

PMTIeY MR

1) First nnTpn

2)

a)

The %210 deals with whether it’s 707 to be 7R 7°0 to a thing that was already
Sp9pn with MoX or axn

Second nnTpn - mawn

a)

b)

d)

R "M

i) TRV 2R RNLIW IW2AT QY WOV DWTP W2 MW WA XY 03170 HW 7
R AN

i) 1w My whw nRMIYY 1901 D DY AR
X2py " AP0

i) D RPY RPVIY 32 20D WOHW RITW TN 1AW PO2TR 1IN RD D070 YW 0NN
W IMWY? WY DRAY 19°01W 0D DY AR

RD

i) 7RNLI QY 73297 OKX ROTW N7V 7270 PO 10D 272 N AVW WK 1TAY 22T
i) 70 12N% PRAYA T I9MWAY D DY AR

Koh il

1) 7780 RO AR R T 0

3) Third 7P

4)

5)

a)
b)

mnn2a woow counts only as 7109 because it’s not 717N Xnwn
WIP2 WILw counts as Xnb because it’s wIp Xnvn to vean

Fourth nnTpn

a)
b)

The greater the original %1% the more 1anon it is that it’s 1 to be axmw 72017
The lesser the original 21p%p the more of a w7 it is that it’s 2nw to be axmw 70M

Fifth nnTpn

a)

It follows from the earlier nya7p: that

i) It’s more 1anon that it’s 7N to be nxmw 701 to wip that was already 2p21pn
as a Xnv woow

12



b)

i) Than it is to be nxnw PO to N that was already %P2pn only as a v hHw
2109 that’s not o™X XL

And this explains why the m1wn says that
i) after x1an "1 taught his 7 on 75017 to w7p that was a Xnv "wbw and was Xnun
ii) X2°py " is 7pow his 17 on 1907 to 1N that was only a 7100 “wow

6) Sixth i
a) moon establishes at xn>>x777 7"7 that a :1p%p of MoK is considered to be at the
same level of 7175p as the p%p of 9109 >w 5w for 1N
b) It follows that if it’s 9n to be XML 7oA to 71N that’s 9109 W it’s also M
to be nxmw 7°0M to an MoR
c) Italso follows that
i) Since we’ve established that a 91977 of Xnv that’s Xnun is greater than a 71pop
of oo
ii) a?,pop of xnv that’s Xnwn is greater than a :1p%p of 1o°K
7) Seventh mnTpi
a) A XnNMIRT 7P5R is a greater 7p5p than a 11217 9 pop
8) Eighth mnpn
a) We’ll establish on .10 77 and 1w 77 that
i) X79p 12 mwn woph wo disagrees with this 7%an and says that both =°xi ' and
>0 "1 hold that we’re not 7272 the 1p%p of 10k to the 2109 of nxmw
i) While jam» "1 holds that both 7°xia "1 and >0y " agree that nxmw% MR P77 as
outlined in the earlier mnp:
b) X"wann on this point says
1) "1 9% 3w MTNT 1D M2 W 120 N1 11172 1R 2now n un”
i) For an explanation see 120p ®»°1 17" MooN at v A7
9) Ninth nn1pn
a) ynmat't avw on noo is RNMIIRT MOX
10) X
a) Nwp

1) "RnT 27" does kn M derive his 17 that mv yian niann can be aawa with
7190 that’s a WD at 1 avw on oo 29y when the 7m0 1S 131277 MoK

i) XY MY RIT RAVY KAV QNI AT N QDA RDIT M 7270 RDOPOR

(1) It can’t be that 7°&kn " refers to x1°1r '3 since X1 ' deals with where the
starting 21p%p is Rn»MRT Rnav woow while 7x» " deals with where the
starting 7% at " vw is an 13277 MoK

13



(2) Besides why does o1 " disagree with 7 xn ™
11) mooin at xnw1 v R 7"'7 as explained by R"wann
a) xwp {an obvious X375 by x"wnn follows below}
i) why doesn’t the X3 explain that
(1) 2°xir " and o1 " deal with 't 7vwa ynn when the MoK of y1r is RN™MIRT
(2) And that

(@) xn " agrees with the mvw of 1y " that axmIw? MOX P77 and that’s
why he says it follows that

(i) Since xn " hold than a Xn»7x7 IRML? *w°%w can be made 1w
RPNV

(ii) In the same way an Rn»7x7 MK can be made nxmw? "W

(b) while >ov '3 agrees with the 7u>w of x15p 72 own wp> woa that X
TRMIV? MOX P and that’s why he says the 17 of 9% " doesn’t
follow from the 777 of X3°11 "

12) x"wonn
a) Nwp

i) We established in the nwa7pi that the 91p%p of axmw is greater that the 21p%p of
MOX

i) so
(1) even if 2°xn "1 holds that xmw% 0K 177 and even if the case of °rin "
involves 't 7yw and an XN»MRT NOK

(2) how can moin ask that 2°&n ' can derive the greater xman that there can
be a 79017 from Mo°k from X2°3171 'Y who says the lesser &n1a1 that there can
be a mooIT from armv? wHw

b) But note that

i) this x*wp to Moo wouldn’t apply had mooin asked that <& " derive his 17
from x2°py "1 who holds that it’s 207 to be ax2W 77012 t0 a XNMNRT 7100 WHw

il) since Xn»MR7 7100 *w 5w and XN RT M0°K are equal 2°pPop

14



Ao TNAI X3an " TRAL 7109 Dnn AT NIvoIn

1D RNMIIRT 2OMR RAWD PP IRPW P ''07 " X7 YN "D e ann '
NRI9277 "7 K72 29007 770190 Y90 RDT 517 m1IRDD B'op 11D 11297 RMIDON 17101 1990 R
RNIMIRT MWY9W RAIRT 71''9712 972 DI R ORTY RT7 T RI7T PTN ONRT 0P AN
I IMWYD MMOR J1297 IR PAR DOIN RAWR DI PR 7''AY 13297 U nwwyh 910
51297 RNMIMIRT 21002 MRT R2OPY "5 RDR KPR 399 790 mwp 8 0''7aT 1297
R 179 DaAR 1297 IR 297 MOWR MWYD MR 17T RAVMIRT PR My
MIYH HIDY RNMTINT S2OHY RWORT 2MWH 3792 ' 57195 "D RAMIIRT 7912 1R
PTN 'OINT I@NDW RITT IR 2297 N1 MY SRS IR 11297 OOK DaR J1297 nw
RPT KPR RP907 "' noRIRY ¥ R M1 11997 11D 11297 00K 5700 1390 8D "D

:2'117Y NN DY 23 01 TR PTN RN

1D oI MIYH TNIR J1207 SRR RITOW JOPRR KD "D PITR 90m 1 'Y 7R
FIRIIY T2 TP OPIAT ORMAY DY MWD 1Y MWPN RY ORMR 27ON2TA PIRTS v B oy
297 INPIW DR ITITRT RAUT U0 1 171 R DOIN NAun 9OINT 7''RD j1207
RNVTMRT PIVDT ROX MAKRP KD P11 RAVMIRT 12 MWYD 129 RIT ROBYR NTUT
MITT NINDD KON P K2 KD OMHWIN NOTID RRYA RAUTI RNININT N1 IMIRWYH MmN
ROR RP KD R2IPY "M RAVNIRT 22 NWWYD 9129 MIRTA RIOPR M0 KR 7'
BIR 7''AY ORTIT 2I7IN2T 2D R RDMMIRT AW INWYD D37 RNPMINT 910D
2219 '2INT DMWY RHN MDWITIR MBI MWW 0 MIWPAY RN DOIN RBRLn
TMOIRD INWAT RAT RV I0M 7T NP WY DIIN RHUR DOIN PR M 7''nbT
NOOR 17''97 K772 ¥ X2 RONTE 09D KOO 11297 1w Iy 1207 [Pubw]
2177 7010 DR 'oanm w s nbonb
7'"97 RPIRT 3''O0 'R 5oy "o 2rMaTR RITW 0757 N°aT 2 91ava anen 7''Na
71297 21 512102 MBRT ORP YR 2" ARPT 27002720 MR IMIRT NP THN2
:2'17Y 2w W A'TTR DI I RDOR M D KT 'NMMIRT Myh 90T
1) First nnpn
a) mnna W oW counts as "Mos" but not as "xnu" because it’s not 71N RHLA
b) wpa whw counts as Xnw because it’s D°wTR XnwA to ¥
2) Second 7P
a) To°x has the same level of 21p%p as 7109 *w oW 7170
3) Third n7pi
a) A 2p%p that’s Xn>>IRT is greater than a ?p%p that’s 13277
4) Fourth mnpn
a) The 7P%p of RN IRT W7pa wow is greater than the ,p%p of XN IRT MNOX

b) But the :p%p of J1297 wpa *w oW is the same as the 7p%p of an J3297 10°% — as
we’ll explain at Xn»X7 7"

15



5) Fifth mn7pn

a) At this point the x1nx assumes that x1ar "1 deals with a Xn»>7I87 aR™IY? “WOW
6) Sixth nnpn

a) X2°py " deals with 12w and 11 that aren’t P29

b) It follows that the 11y of 221 &nun H21R 1% doesn’t apply to the case of x2°py "
7) Twni of the X

a) "n7oma7n” does vRi M derive his 7 that

i) 770 yan nman can be 7aw1 with aman that’s a wk at Y 7vw on nod 27y
when the ynr nman is 13297 MOXR

il) with the result that the 77170 72170 becomes R, 1w
b) n%xw as explained by m»oin

(1) Does & " intend the 71m°% to be from x1°an "3 according to the =nakT 18
that 701 Xnwn 9238 X as in this table 1

DOIX RAbA DR PR 198 'R ®Daw
PRD " X7 "
13277 NO°R RNPIIRT WOV 7onn
(921 RnLN KW PPRT) 13277 W (921 RnwM KW PPRT) 13277 W 0

(2) Or does 7°xn " intend the 7% to be from &1an " according to the x»
TnR7 that 7918 Riavn 923X as in this table 2

(3) who for the &7 1871 that 9218 Xnvn H2x deals with this case

DI bR DI 19R— '3 XDV
RN X117 "
13277 OR RNPIRT WO 751N
(92IR Rnvn HIINT) RNPNIRT "W (923X Rnwn HIINT) RNPNIRT "W 10

C) mawn
i) No because

(1) both in table 1 and table 2 the starting 21p%p for X1°117 ' —XnN»NRT WHW — is
greater than the starting 1p%p of 131297 m10°% in the 27X of R "

(2) And it follows that the 1>7 of X2°117 ' that there can be a 175017 to a greater
2P%p is no proof that there can also be an npo37 to a lesser 71p%p

d) noxw
i) Can the 7% be from x2°py '
e) Tawn
i) no
i) "o [N aywa mnna) 8o 2100 Pwhw 1w nmnna] ann onT on !
8) mooin
a) Nwp to the 72wn of the X
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i) We established that the 71p%p of Mo is the same as the 9p%p of “w%w a1 n
2109

b) v

i) The j3397 7o°x for yn at Y avw is less of a 71P%p than the Rn»=IRT 2100 *wohw
in the case of x2°py "

i) So 7°xi " ought not to derive from &2°py " who is 2°ni to be nxmw 70w to a
XN™IRT 2100 that it’s also I to be XML 7°01 to an 13277 MoK

9) mooin
a) xwp of "
i) As we’ll explain in detail below
(1) ~°&n " ought to be able to derive his 17 from a 7%
(2) Even if the starting 21p%p is greater in the T%n» than in the case of xn "

(3) So long as the 119017 in the case of the 7% is not proportionally less than
the 119017 in the case of 1°xn "

b) Now
i) analyze the mooy for X2°py " and >R " if 521X XLV IR PR

DOIR RALA DI PR IR RPY 7 ROR 2" nrwIp '3 kDA

PR "M X2PY 9

11277 NO°R RNIIRT 2100 7°nn

(7238 Rnvn DI PRT) 11277 "W DO W RPT) RNMPRT W 10
(929X RnwvnT

ii) The oo for 2&n " is from 131297 0K t0 13297 "1w (because Rnvn 22X PR
90X) and this n9037 is proportional to the 19037 for X2°py ' from ,09 "wobw
RN>TIRT t0 ®N»IRT 2w (the "1w is Xn»RT for X2°py ' because Rnvn 221X PR
2918 doesn’t apply to 1w 1)

iii) So why can’t 7°R» " derive his 17 from the case of X2°py "1 even though the
starting ?p%p in the case of 7°kn ' that’s 13217 is less than the starting 2p%p in
the case of X2°py 1 that’s Xn»IR7

c) Note that
i) the following table explains why the same X*wp doesn’t apply to the case of "

NI
DOIX RNLA 92K PR IR R0 7 ROKR V"9 ®1°1 "7 ®DAD
PR "M X119
13277 OR RNPRT WO sl
(2R XL YIIR PRT) 13277 W 921X X717 "1 777) 13277 W 10
(>ynwn
i) namely

(1) x3an " deals with 1°951% to which the 197 of %1% Rnvn 70 P applies the
same as for 7°xn "
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(2) And the n9037 from X131 ' from Rn»RT *wHw to 13297 "1 is less than the
79017 for 2kn " from 31297 M0°K t0 131277 "W

d) ynto the xowp of >
i) Must be that
(1) The only relevant factor is the starting 21p%p of the Tn
(2) And

(a) if the starting m1p%p of the 7% is greater than the starting 2175 in the
case of xn "

(b) there can be no 7% from the %n even if the moo17 of the two cases
are proportionally the same

10) mn7pi to the qwni of Mmdon
a) In later o271 we’ll refer to the nv>w of “n7° "y 0n v A7
b) mooin holds that the v w of "20p 11" at :7° 77 is the same as the nvw of "ny ™

c) This nuw holds that for the k7 18 that 9218 Xnwn 2218 PR the np17nn between '
7°&n and >0y " is based on whether the starting 71p%p in the case of X1 ' is
XN*7X7 Or 13277 as in this table:

DIIN RALA DINR TR 2R 0P 1 PRD 17 720p ¥l ' R7AY

RN T e

301 "7 RIKR K177

RN T ROR RO

11277 MOX

RNPIRT WHW

11277 WO

hivsha!

DR PRT) 11277 "W
(92I% Xnwn

DX TPRT) 11207 "W
(9238 Xnun

92X T°RT) 11277 "W
(92I% XnwN

0

d) Inshort

i) for 2xn " the starting ,1P%P (11277 M0°K) in the case of 1°x» "1 counts as the
same as the starting 21p%p (33397 *w°ow) in the case of X1°11 "1 and that’s why
7°Xn can derive from X1in ' that it’s 20 to be 7°01 a 13277 3w to an MoK
1297

ii) for >0y ' the starting 21p%p (73277 oK) in the case of 7>&n " is less than the
starting 23p%p (X287 *w°7w) in the case of X1°11 " and that’s why 2o&kn "
can’t derive his 7 from R1an '

11) qwni of msoin
a) "ymn"
i) The nvw of *o1 " proves that

(1) the 17 of 781 ' can’t be derived from a %7 if the starting 2p%p of a o
is greater than the starting %17%p in the case of °xn ™

(2) and it’s not relevant that the nooy7 are the same as here where the 715017
for both is 71297 "1 {an obvious x*wp by &"w-nn follows below}

0P ' PRA "D 20 R RDA
0P T RVOXKRPIT M | PR M7 RDOR XA
RNPIIRT WO 11277 Whw hivlshal

R T NN
11297 NONR

18



| 11277 1w 11277 "W 13277 "W 110 |

12) R"wAnn
a) Nwp
1) The nvw of *or M isn’ta "R

i) Because in fact the oI aren’t the same for "0 "1 because the npo37 for
XA is from Xn>»7R7 2w 5w to 13277 *3w and is less than the 9017 for 2o%n '
from 71277 M0°KR t0 13277 W

01 'Y 720 X121 'T RDA
RD T MY S0P "7 ROR RPN
11277 MO°N RNMIRT WOW 770N
11277 W 11277 "W 710
WH AT MO T | IWH RNVMINT WL 2
2297 397

iii) Here’s proof that the 75017 from Xn»R7 *w°ow to 13277 "2 is less than the
79017 from 11297 MoK to 13277 W

(1) In tables 3 and 4 we established that
(a) Although

(i) " asked that <°x» " ought to be able to derive that there can be a
75017 from 31277 MoK to 11277 *w from RX2°py ' who says that there
can be a 1907 from Xn*7IRT 9100 t0 RNTINT "W

(b) Still

(i) "9 accepted that =°x» "1 can’t derive that there can be a 79017 from
11277 MoK to 13277 "1w from R2°11 ' who says that there can be a
79037 from Xn»IRT WOLW to 132717 1w

b) y1n
i) Mmoo by its "y7n" means to say only that for the v w of 120p &2

(1) Even if it were relevant that that the 719037 in the case of a T is
proportionally the same as the 175017 in the case of 2°&»n '

(2) o1 " still couldn’t derive the 17 of =°&n "3 from the case of x11n " because
the 19017 of X3°1m "1 is less than the 79037 of 29kn '

13) qwnn of mooin as explained by X"wAmn at 72012 »1 817 ' 7"R2
a) xwp of "aRkn oxy”

i) See table 8 that analyzes the v w of 120p &1 both for the anx7 18 that HoR
501X Xawn and for the 2R 187 that 9218 Xnon 9918 PR

RN T R2OR RPY M RPIT "D N20p RN 0RO

RPY ™ | PRA T RHR RPN
RNMRT 7100 WHW 11277 KL WY 721N
RNPIIRT W 5O TR R 11277 1w 10

DIIN RnLA
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DOIN PR RNPOTINT W
DI RN

i) now
(1) To be xmw 7°01 to a starting 21p%p that’s Xxn>>1x7 (as for x2°py ") is more
72non than to be xmw 7°0 to a starting 7P%p that’s 13277 (as for X1 ™)
(2) It follows that the w7 of X131 ' is greater than the w7 of X2°py '

(3) Why then does the mwn say "x2°py " fpoer" that implies that the vy n of
X2°py " is greater than the v7°n of X127 '

14) snouw»

a) °now17 notes that the x°wp is even greater for the 9nx7 187 that 5918 Xnvn 221K
Xn»IxT because then X1 "1 is 7°nn a o017 even from a 11277 wohw to a "
RN»RT

15) X"wann

a) noown doesn’t ask the greater X*wp of "»7>w17> because Mmoon wants to point out
that its xwp applies even if 5218 &nvn 2K PR

16) qwnn of mooin
a) v1°n of "

i) X2°py " deals with where the starting 23p%p is 2170 1w that’s 11277 9109 whw
because the 1w was made &»v by a 13297 o1 912v

ii) The 92p%p of 131277 9109 *w>%w 7m0 in the case of X2°py ' is less than the 21p5p
of 13277 &nw w%w w7p in the case of X1°11 " — and that’s why the won of ™
X2°py is greater than the wy7n of X1°1m '

TPRA 2 MOWIT R2HR RPY 1 RPIT MY 1200 X031 0 kDA
RPY M | PR T RDOR RPN

3297 D08 WOW 11277 WO sy
RNPTINT 2w D2IR PR 19X 11277 I 10
DO RN

TR IR RNPINT W
521X XA 29X

17) X"wnn at 2non 72
a) Xwp to nowy

1) Then to answer the xwp of 1817 o271 for 9°%1 " why doesn’t the X 13
follow the 797 of this table

M2WIH MDD NP B R7AY
PRD " RPY " [ KRR T ROR RPIT
13277 OR 3297 7100 WhHw RNPNIRT WHY 73°1n
50X PR IR 13207 W TOW KDT) RNPIINT W DOIX PR 1HR 13277 1w 10
DOIN RALA | 7AW IR KA PR PR DN RnLA
DR PR IR RNPIRT W (" TR IR RNDPTIRT W
DOIN RnwA DIIN RALA DN

i) namely x1an " deals with a Xn»x7 “whHw
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(1) For the 2nx7 1871 that 901 Xnwn 2238 the wi7n of X1an ' is that it’s A0 to
be Xn»R7 1w 7°01n to the XN IRT "WHW

(2) For the anx7 187 that 9% &nvn H2IR & the wi7n of X°an ' is that it’s 0
to be 131297 1w 7°01 to the XN»IRT “WHw

iii) X2°py " is 7 om that even to 131277 7100 *wHw it’s N to be XN IRT "W Pomn
iv) Now
(1) Since an mo°x has the same 9p%p as 7100 "whHw
(2) 2°xin " relies on X2°py ' to derive that to an 131297 10K
(a) there can be a 79017 to Xn>7IXR7 3w for the 2KRT 87 that 218 Ravn o8
(b) there can be a 119037 to 131217 1w for the X7 187 that 7918 Riavn 22X PR
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A0 7T
M X*T 2" T AN 2T e

D129 PRTAY ROR TMINT STIRT J1957 "D 23902 71010 ' 72 2"wna [N Ty 1w 7]
99N ROTT 23 5P AR B Hop 15 P02 N2 7Y DR A1 KT IR 0 21
TOINT STIORD W 31T AT POOT VA IV AR 2N 70 IS Ty ' W
TDYIRYD KON TN IR RAT NP2 N2 ORI 0D A3 ROTT IV I PRI NON
STV PR T TR SITYS 100N 192 PRI 20T ARPY 'anna by A '
AW NOAM TARDT KT RN 212N ROR PRI 027 M KD ROTT PI0NRT INRD
29792 AR MW POIT TODT 2N RATTT PPID N0 D 1R 2T AR PR 'Y MW
"SINMRY IRAYT QY PN MW N7 DaAR 01 927 9272 NPT A1 RNYMR2 P
' N7 ODY R IR 9 U0 PR HI02 N2 PR 1T K2R 0 W ROTT

:2'197Y TR PR 772 RwATe anow 'y

9% ARPTY 'O "1 799 77 110 AR T2 9" R TIAT 1D m KT ''Ta
79 N2 923 7MPN2 01 HRon 957 1vmh RDINT B0 N0 N By pbma e by
1D T2 HRYAT MR KDY STNITWR TR 29702 U757 RUTY RATA RINY INMRW PR 10
N9 9" TRAT T OPYAT INMD R WADY WY 321 799 17" 1T 79 9T INnD apb
NDOR RIT7 IRRIY POO 79 TONW NVANT 0N TR D ROWR ORRT PIT X7 BaN
7 DY DRPT 1017 DaAR RTINON RITI2 AODDATD 2ITO2 P2 KRBT P2 DY 00D
N7 3" R DT 23792 P2 RATA P2 A0DR RPT ' 197 "0 YN by wwhm
RINT 777 77 DY 2" WD DD 2o YD 'R PPN N0 AP JIRRT 10N

21171 979 RY 1N DR T WD N1 23702 17T Rt

1) First nn7pn — nodT mwn at .7 a7
a) TRn"M
i) 7IRNLI QY 73297 MOKX ROTW TNV TN PO 170D 272 N AW WK NTAY 22T
il) 77970 721707 PR T 9w 0D HY AR
b) sor"
1) 7700 X APR PRE T 0

i) It’s only for ™20 170 that Yy ' says NARD J°nw oW to be axmIw 720
o7

2) XM
a) ToRw
i)  Who are the o>xin from whom =& " derives his a7°7277 17
b) n2wn of X19p 12 own wPh W

i) ywir " in the xn>>12 of poo 7% 79w nvan disagrees with 71y°5x ' and says it’s
amn to be axmv o for %0 N
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3)

4)

i) °Xn "M is 7 from v ' that it’s also na to cause axmw for 777w 7N In
N

C) Xwp towphwn
i) "o°7°a RO Rnhva Xna ana”
ii) Inthe xn>>"2 it’s only axmWY ’72 that ywr ™ is nn
iii) How can =2°&n " rely on ¥ " to permit o2 axmw
d) y»n
1) 1107 PR

il) In fact 2°x»n " relies on a second &n>*12 of 772w n°an where yw e ™ permits
0>7°2 nRmw even for 717w IMaN

e) noRw
i)  Why does o1 "1 disagree and say 17717 X°7 71K
f) nawn

i) >0 " says the xn»92 of 175 71awaw n°an is a special case because it involves
79 7095

"w1 as explained by x"wann at mame "y
a) noRw

i) Inthe x1nx M when the X3 held that 2°&» ' relies on the &n>»12 of noan
POD 19 ToNW

i) How did the x7nx accept that 7°x» " relies for his 17 on 777w N on a
xn>>12 that deals with %0 7170

b) nawn
1) The x7n3 held that <°&» " says for vy ' that
(1) just as ™2n 7170 can be used only for apon
(2) in the same way ynri nmn in Y avw is »1i only for now
C) ToRW
i) And how did the & mx understand why >0y '3 disagrees
d) mawn

i) °01 " holds that this 720 isn’t enough to overcome the fact that the Xn>12
deals with ™%n 7170 while 2°xn ' deals with 77170 7270

M"wa on "2 iy at v nRp X7 "7 as explained by X"wann at na xpr7 "7
a) ToRw

i) Since the xnx decides that "o 72 8577 X122 823 ana" is the reason R "
can’t derive his 17 from the xn>>12 of poo 7% 771w Noan
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ii) Is it possible to explain for >0y "1 also that the xn»92 of poo 7% 791w noan isn’t
relevant because the xn»12a permits only &nx

b) nawn

i) No because we’ve established that °01° "3 in noo7 73wn relies only on the &720
that vy ' deals with Y0 7110 while 2°xn ™ applies his 7 evento 70
Y

c) Note by the way that

i) Although >"w= at 'a 7wy sets out this 7271 only in discussing the 7w w of 1M ™
the o°v15 of which aren’t relevant at this point

i) The same 721 applies here to explain the v w of wp> w1 on why >ov '
disagrees with °xn "

5) X"wann
a) "nIpPato axwp to v"wn
i) At :>~n7the X3 asks three nywp
(1) Why is it that

(@) o1 " in nooT mawn says YW M is vk to be AR 7°0m to 17N even
072

(b) ¥ " in the &n>>12 of Poo % 790w nan permits a 19037 only for Xk

(c) yw " in 17D 712w N°anT RNMA2 S °Nn to be Rmv AP0 even to
77w and even 72

i) And the x»3 answers that
(1) The &n>>12 of y72 7awaw noan is a special case because of 111 7097

(2) *or " in noo7 mawn refers to the understanding of ny»w ' on the v w of "™
ywIT

(3) o1 " in the xn>92 of poo 7% 79w n*an sets out his own 7w w that where
there’s no 171 75077 @ 7907 is AMn only ®»3a and only for %0 7 n

b) xwp

i) Then why does >"w~ need to decide for yw> ' that it’s 072 9 to be 7pom
TRMIY to MPN INn

c) 1IN
i) Probably >"wn refers to the nvw of ywi» "3 as understood by nvnw '
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A0 7T
o' Y A"T 0 T M'wnl M awpn TURAL 2T AN T A" T

TITIN JIOATA RDT 11997 999 9207 77T I RIT IR DR "D IN#I 7911772 'on
A YaRa IRMILY VIR JNATA RDT ROWTT X120 2109 221 9O "D RIS J1207
2"V RNWITT PO 77 PaAWaT 17 N MRPT IRAY AP 9957 IRP KD DA ' 0N
71297 IRPIVYD 32277 MO JORTR 157 RAPTINT IRDIWY RAPIRT MO JPRTATA
" TR RN STTIAM 3 N7 TN ONBR N BT N7 V2N RITI2 ApS wend
IR RAVY PPN IRKIVD 99D T ROR IRPIVD OIN J10R7R P07 RAPIRD R
FIRPIY T9Y WD ROTT JARPD WINID MWD 'MW TR TP KD OR RNMNINT 77 ON
SHOR INPVI PRRWMTR D IR 1T RAUTIRY PPRNRR KRRV VIR 11T 1207
NI72Y PP PR N2V 9T 119977 11207 SIRPIY T2 71T RO 707 0100 Ko7 2w
017 "7 PR DaR TIRPIWD MO IATR R V'Y IRRIWY NMVN AT 21T 30D
RNVMIRT 797 77177 9017 "0 N5 TR NIV MO 7ATH 2" PINWT 12 a7
WITTT DM RAUVD PRRWR NIRMIVT PRRAT TR WA Y902 INRYI PRRRTY 1M
"MINTAT 277 KON KRV R ORTY 2IPRAT 32 9907 DaAR RNVMIRT PRRWR 92N

'Y 9" RN YO OB SIRTIT T SINMAIWT ANM RUN NAW 95T PR

"D RNPMINT OWIDW Aown K 01 "B DR 10 IR PR 7AD" e 7''Ra
RPORT 1779 SWPN KD PP oY RNMMIRT 290w 79 Op1aT 5719270 220 muswna 'y
TP RNMIRT SWIDRWT RNMTINTA JIREIWY NN U7 DN RAWR 9DIR 120 779893 '
B DR TR RWP DOIN RAVA IR PR 7''RD ROR 3ApD O"'WND 191 RNVMINT W
S''RY MW PPN AT YA RIR YISWRY R''R RNPNINT MDA 79 OpnT 0P
NPV DOIR PR D107 R1297 1pD 2"'WNIDS 772 23 MY 179 RN KDY NE0IN 1T KD
W P A5 haR W'Y RRON2 R JMPINTS 11297 IRPIW NDDIN2 770 P PN
7''a% RabYa »'"9% M1 1T MWPN KDY PRRR RY2 IMISRRY TWOHR K2 [11297] wwbwy
NRUD PR IR 50T 190 RNMIINT WOHY IMOWNR 1907 OIN NRuUR DR PN
INPAVIR D2IR2 INRVIY PR RNVTIRT MWHW FMIDWRY TORT 2''97 31297 29NN

2'"17Y PR "2 2" 9Y PIRRA Y92

71297 SIRPIY NDOIND 19 P 11D 790 NINT K192 N2 onpub o' ' Ta o"'wena
TINAMY TR 3277 IRPIW NS0IND MDD PR DO MY KRR 257927 ORM™Y "D
RD 2''RT7 POWa "ML Ipwna RALIR Y902 KAV WA BOuh " wNinw s 12anT
ST 927 DOYD ARTS 11T MaTR RN MY R TTINRTR WINDD D TIURN
2RI AR O"WN NS DOPD 'DINT WTHD 11207 IRPRIVA 1277 MMV 7901 RDT WD
RO FTIOR ORBAR PADITR ORI 377 2RI RPN MVN 097 2"y 12 T T
RPR 917 KDY "OMIRT IRAMW TR RIDP M2 20N B RPIRTD BT KROR 77T 9
T9Y AT AW IDWRD K2 1711 DOIN RawR BN IR 1190 13207 N2 NDON
PRT R2PIRD KDY H2IN "'P7 MIDDINT ' 719251 293V V'Y KUK RNPNINT IR
PR 9D AR JI277 TRY RPN STUT KD PRRWRD KRRV 92 MY R PIIN Raun DOIN
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T RDT J19DDTD WP RNMMIRT PPRWRA DRMPIY 99 NORT 20 199DR Y902 INRLIR

1)

2)

3)

4)

5)

6)

7)

8)

9)

21977 3297 IR AT WY1 M1 PRwR VYT 11297 IRPIY NEoIN

First 7a7pn
a) X2°py " according to *o1 " holds that Xn>>7IRT 02K XNL? PRWHR NRMY
Second 7P
a) Nn2y 210 agree that it’s only 7132771 that 7wRa Ppwn are 0°93 Xnwn
Third 7P
a) 71277n 7900 DPAY PRWH RLA 1IN0 IR P01 9
Fourth nnTpn
a) 727X 72 R7X 27 and »ax hold that w7pa 7918 Ravn 2218
b) X127 holds that w7pa 921X XnwH 22K PR
Fifth anTpn
a) mwn

i) X"

(1) 7RMILT 2R RPNV WIAT QY WOHY DWTP WA MWD WINI R D230 YW
TR WY

(2) “3w MwyH wHw NRMIVY 190N °D DY AR
b) X2°py " P00

i) D RPY RPVIY 32 20D WL RITW TN 1AW PO2TAR 1IN RD 00170 YW 0NN
W IMWY? WY DRAIY 19°01W 0D DY AR

C) TRA"M
i) IRALI OV 13277 MOX RAW 7770 ARIN POMW N0 272 N VWA WK 1TAY 07127
i) 70 1N% PRAYA T I9MWAY D DY AR
d) -or'
1) 7780 RO AR RD TR
Sixth nnpn
a) The greater the starting 217%p the more 12n07 it is that it’s 9 to be nxmwv 720M
Seventh fnTpn
a) XN»IRT PYpR is greater than 31217 2P5p
Eighth mn7pn
a) 7277w Hw 7Pop is the same as 131277 MoK PR
Raplab}
a) noRw
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1) IXn7 072N
b) n2wn of 120p &»°1 as understood by *"wA
1) °Xn "™ and "o " agree that X1 " in the mawn

(1) deals with a nxmw? *wHw that’s Xnw only 13277 because it was &nwi by a *93
that was made a 731277 1w by PwRI Ppwn

(2) And teaches that it’s 7nn to be 7°01
(@) the nxmw of XN»MRT 2w if KN™TIRT PR RdLA DN
(b) the iR Of 13297 *3w If RN™TIRT 22X RALA IR PR

i) from this =o&n " is P> that to yian niayan at Y 7w that’s 1327772 0K it’s also
1 to be Ao

(@) the nxmw of XN™MRT 2w if XN™TIRT PR RALA DN
(b) the axmw Of 13297 *3w if RN™TIRT 22X KL IR PR

iii) "o " disagrees because he holds that axmv? M0°K P2 1R at all so the 7 of
X1°11 "1 isn’t relevant to the case of 7 xn '

10) wni of the X
a) nvw of X1op N2 own wopL v

i) xn " and o " agree that 7m70% MOK PR PR S0 that the 17 of 181 ' can’t
be derived from x1an "

i) instead
(1) 2°xin " derives his 1>7 from the xn>92 of 175 7Mawaw nvan where ywir '
says that it’s 2>7°2 9m» to be 77w AN Xnvn
(2) »or " says the xn>2 is no proof because it involves 12117 7097
b) noRw
i) By the way what are the facts in the case of x1°11 '
C) mawn

i) It’s possible that X2°111 " in the mawn deals with R 8T 5w since 7°kn "
anyway doesn’t derive his 17 from X217 '3

11) qwnn of the X mxat 'a 7y

a) 7 "M says that in 't 7vw when the ynn MoK is Xn*IRT even *01 ' agrees that it’s
I to be 7w 7N A with ko amnn

b) xwp
1) 770 RO AR 201 M R KPR O R
12) X"wonn at axmw 191 7" and qwnn of the xna on the qvw of "nv '
a) wrd of the x°wp of the xna
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1) MBI proves on v A7 in 811 3"7 that 13m0 ' who says "o ' agrees with "
9°kn at 't 7yw must hold that

(1) 2°xia " derives his 17 from R2°117 '
(2) o1 "1 holds that Xn>X7 IRMIV? XNNRT NOKR AT

il) For the nv>w of 120p 11 we’ve established that both 2°&» ' and *o ' say that
X111 "1 deals with *w 5w that’s &nw only 131297 because it was x»wi by a >3 that
was &nw1 by ppwn

iii) Now — as explained by >"w= at *>71 °x 7"7
(1) It’s nanon that
(@) since 0P " is RN™MRT MOKR 7nTA t0 RNMIRT 7100 WOOw
(b) He’s also 33277 70K nn7n 10 11277 Akmw
iv) So why did >0y "1 say 7717 X7 70K

b) And this is also why the x7»3 according to *"wa now can no longer follow the nvw
of m20p &1 and instead needs to explain that the npyonn between *o1 ' and PR "
is whether the *w°%w is Xn»7187 or 131277 per the 7vw of "n7* ™

c) Namely
i) Inthe case of x1in ' the *w 5w was &nv1 by 1w Ppwn
ii) and the basis of the np1ormn at Y avw is that
(1) ~&n "3 holds that
(@) the *wmw is &nw only 13277 because 131277 2NK XNV PRWHA DRMIY
(b) it follows that X2°311 '3 holds it’s ana to be FxmIL 701 to 11277 ARMIY
(c) and it follows further that the same 17 would apply to an 11217 MoK

(2) While >ov "1 holds that xn»K7 2R Rdv? 1PPwH XA SO that the >wHw is
XN*7RT &nv and the case of X1an ' proves nothing about whether it’s 0
to be R 7201 t0 11277 MoK

iii) There is no npYomn at 't nyw where the MoK is Xn»x7 because then the case of
X1°117 "1 that deals with Xn» 87 *w>5w is relevant also for >0 '3 who for 71 "1
agrees with 2°xkn ' that axm? MOKR PR

d) {but note that at x»v 27w 827 7"7 we saw that X"wann asks that there should be
no 7n°% in this case since XN™MXT “wHw 7pHp is greater that Xn>IRT MOR 1P}

13)>"wn at “nyw? 2o " A"t
a) Xwpto"nr "

i) The 1w ypwn that according to "»7° " were xnwn the *wobw also count as WK
11277 based on the 592 of Y0197 %5

ii) so that the *w°%w is not only 32277 *w>5w for 7°xn " and xn>>7x7 wHw for *or "
but is also 13277 1w for both 2°x» " and >0y '

28



iii) Now
(1) If 50 xnvn H21% we understand that if the >w>bw is later pwxa w2 yan
there is a 719037 to XN»TIRT W
(2) But

(@) if 2% RnwvA 92 PR the 7331 to a PwrA can result only in 11277 1w
that’s a level of X the *wbw already has

(b) So in what sense does &1 ' say the 7y°a1 results in a 79017
b) yn
1) Must be that "»n7° "
(1) agrees with 7278 12 X7% 27 and *>ax that Xn»RT 9218 Xnwn 22 for wp
(2) and disagrees with x1°27 who says w7pa 9218 Xnvn 22K PR
C) TORW
i) How does &1°21 explain the 75017 of &1ar 'y and the o277 of R
d) 7awn in the pwb of *"wA

1) 957272 3700277 ORMY KXW RINPIRTD PRCINAT 131277 AREILY NN A9 2P K"
"YW M TR

14) mooin at "nyu? S0 ' "7 "
a) 7awn as explained by X"wAma at "nyw? sor a7 "wn

i) "wa by xwo2 RapRTd refers to the mvw of woph wo who says x1an ' in the
mwn deals with xn»xT wow

i) And &1 ' teaches according to X1°21 that it’s 7nn to be 7°0m to the “wdw
RNMIIRT @ 13277 3w (Since X121 says that Ho1R Riavn 79K PR) by 797w with 5o
R

iii) Now
(1) Since xyan " deals with ®n>»787 *w 9w it’s clear that 7°&n " can’t derive
from X131 ' that it’s 70 also to make a 79017 to an 11277 MoK
(2) And this is why *"w~ says that for 81°27 it must be that

(@) 7°xi " derives his 17 from q1v°%x " and ywine " by the qoow of w»
X19p 12 aw2 wop“ and not from X121 '

(b) And oy "1 disagrees because he holds that “1xw 1911 7097
15) qwnn of X"wain at “nyvh so» ' a"y
a) ToRw

i) Return to the nv>w of 120p Ri°1 as explained by *"w — namely that the case of
X111 " involves a *w 5w that was 131217 &nw1 by a *»3 that was made a 131277 "1w
by nwxa ppwn

i) Is it possible that by "xw>12 R pRTd" >"wa means that
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(1) for X127 who says 7918 Riavn 22X PR

(2) xan ' deals with the 2% of 7120p &n°1 where the 131277 "w°%Ww wasn’t Riavl
by ypwn and so isn’t 13277 21w until there is a 79017 to 131277 *1w by v to
an NwRI 9

b) nawn

i) Can’t be because if so *"wn could have explained that =°x» "3 derives his 17
from x117 ' and *ov " disagrees because he holds that 1297 M0°R 1A TR
11297 IRAID

ii) and
(1) If you argue as >"w does at *o17 °&k 11"7 that

(@) Since the &3 now follows the fww of j3m° ' that "oy " agrees with '
TR at 't 7vwa and holds that Xn°>187 MOX P77 to XNPIRT 9100 WHw

(b) it’s 2non that "o " also holds that 1297 MoK 7177 to 13277 IR

(2) Then it can’t anyway be that >"w by Xw°12 X1°P1R75 means the v w of
q20p X»°1 because then the x*wp of the x7»a would apply again: why did "™
DY say TR KT PR

16) mooin at *" awpi M7 vraRa as explained by X"wAnn at > wpn 7"k and also at
praiop Rl T ik Rl v

a) Consider again the x*wp that >"w says would follow from the 7w w of 2oxn " if
X127 agreed with the vw of > " namely

i) The 13297 *w>w was &nw1 by 1w Ppwn so based on Y0107 93 are actually 1w
11277

ii) So what 79037 is there for &1 " if the 13297 w%w is pwrIa vy and is 1w
11277 because 221 Xnun 91X PR

b) It’s possible — contrary to the v w of >"wa — that =°&»n " derives his 7 from "
X1°171 even for X1°27 who holds that 921 Xnaun 9918 PR

i) Because we can answer the x*wp of >"wA by saying that

(1) 2°xin "1 holds that the *w°%w in the case of X117 ' was Rnvi not by pwn
o>1w but by *1w PO

(2) the *w > is a 131277 *w 5w because 921R Rnavn 9218 PR and is not also 1w
13297 because the 17 of 501971 95 doesn’t apply to 1°72I%

(3) so that there is a 79017 to 132277 "1 if there is a 73731 to WX DR
C) noRw
i) Then why does "o " disagree
d) mawn
i) Here are two 0°3%7 on why >0 ' disagrees with 2°xn '
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ii) Both o°o%nn assume that "oy ' disagrees with the 2vx of X171 ' that PR
presents

(1) First 7%mn

(a) *or " says the *wHw was &nwv1 by o ppwn but the case of X1 ™
happened before the mpn of Y0197 95 so that the *w >w is Rn»RT
(because >0 "1 says that Xn>>R7 20K Xn02 PPwH DRMIY) but isn’t also
a 13277 "W

(b) And the npo37 for x3°37 ' is that the »w>5w also becomes a 11217 w if
the RN™MIRT WHW IS PWRI2 van

(2) Second 79nn

(a) "or " says the "w 5w was xnw1 by 712391 ovxy that were 1w and are
neither P721% (S0 that 921 Xnvn 22 1R doesn’t apply) nor Ppwn (SO
that the mipn of 501971 %5 doesn’t apply)

(b) It follows that the *w>>w is kn»x7 and isn’t also a 11217 "W

(c) And the npoy1 for x2°1 " is that the »w>5w also becomes a 131277 " if
the XN IR SWO5W IS NWRI2 YA

e) noRw

i) Why doesn’t m»oin accept the v w of »"wA that X1°27 holds that 2°x» ' derives
his 7 from ywi

f) nawn
i) For some reason maoin prefers its own 72mn
17) qwnn of X"wan
a) Nwp to "wn

i) °"w has explained that x1°27 holds that X117 '3 deals with Xn>»x7 *wbw the
same as in the xn»px of woph won

i) But how is it possible for 2°&» ' that the w7p w2 became xn>71x7 *w°%w in the
first place

iii) since
(1) based on 921% &1 N PR
(@) it can’t be that NWRA 921% was 1w 7218 Rnvn that was &nvn the wa
(2) based on the rule that a °2> can become a *xw only 11217
(@) it can’t be that a 3w >3 was Xnwvn the qwa
(3) it can’t be that "3 pwn were &nwun the 2wa because
(a) first
(i) =xn " holds that 131297 22X ®PWY PRPwn NRMY
(b) And second
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(i) even if XN>»RT 2R KNV PPWH DRDIY

(i) the Ppwn would be a 131277 wrA based on o1 901077 93 and the x°wp
would remain that

1. the 2wais a 13277 °3w and there is no ooy if there is a later
79w with axmIv? WK

2. since the mwa would continue to be only 11297 *aw because &
DOIN NAUA 2N

b) yn

i) The w1p w2 was Rnv1 by 11271 o3y that were Xn»RT 1w
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NNV XNMIIRTAT A" T NID0IN

MOOR R R 2 K92 'R ANNWITD WIT N20P R 1D MW RNVNINTAT 7''72
71277 MYHWH 31297 DR NN WO RN20AT 20D 110 RO XD 'O 10 j1anT
357 AW IMWPH MR J1207 RWOHWT 10T IR TR 99 11297 Nwh XY baN
AR KD 31297 IR2IVAT RPR 910D 1720 KPR MR 2297 MOORT 3190 H''IT7 31207 0N

H'"PY 9I0% "2 2 PR PR 1 DR A Pa phnab b
1) First nnTpn

a) it’s a greater Y17°n to permit a XMW NooT to a lesser starting 21p%p than it is to
permit a nx»w Noo1T to a greater starting pop

2) Second nTpn
a) oK counts as the same 91p%p as 7109 W 5w 217N that’s not D°INK Xnwn
b) 0o and MoK are each less of a :p%p than wip2a "w>Hw that’s 2R Rivn
3) Third 7P
a) For the v w of "20p 21"
i) the case of x1in "1 involves 13127 *wow for which there is a 9037 to “aw
ii) and from this 2°k»n "1 derives that there can be a 79037 from 71277 M0°K t0 "W
b) as in the following tables
i) the 19017 to nXmIYS 1w —for Rk1n ' as well as for 1°xn ™
(1) is Xn@MRT if XN IRT DR RV KON
(2) and is 12297 if 3122977 52X KPR DN

'R X220 - 720p R
RNTIRT 701X XAV 7R 19X

RN "M WP RN "M
11277 NO°R 11277 Ww 720N
RNINT W RNPINT W 710

'2 X720 - 120p X2
RNMIIRT DI Rnwn 79I PR 17X

R "M WP RPN
71277 MO°R 11277 WL 751N
11277 W 11277 W 10
4) moon
a) Xwp

i) Whether or not 51 Rnvn 7918
i) Based on the nn7pn that
(1) Moo is 2ppn the same as 2109
(2) And 109 and Mok are each less 2p%pn than xnw
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iii) how does 7°x»n " derive that if there can be a noo7 from 11277 *wSw there can
also be a o017 from 131297 MoK

b) v
i) Must be that although an xn>>21x7 10°R is less of a 9p%p than xn>>IRT "wHw
ii) Still an 13297 Mo*X is at the same level of %1p%p as 13277 axmw

c) X°wp to the ImRT 87 that RN™IRT DN XHLA 29K PR

i) Since an 11277 MoK is HpPpn at the same level as 11277 nxmw there is no 017
in causing an 31277 Mok to be also 131277 &nw

i) So why does 7°&»n " need a &2 from X111 " that it’s 70 to be 7°01m to an
711297 MO°K to make it 13277 2w

5) x"wann
a) Nwp
1) mooin ought to answer that
(1) It’s correct that an 73277 0K is at the same level of 91957 as 11277 wobw

(2) But there is a 19017 from 31277 M0°K t0 71277 %3 and that’s why 2°&n "
needs a & to his 7 from X% "

b) v n
i) It’s 7anon that

(1) the same as we don’t distinguish between 11277 M0°k on the one hand and
11277 2109 and 13297 *whw on the other hand even though the 71p%p of
1127 *wow is greater than the %1p%p of 11277 2109

(2) in the same way we don’t distinguish between 11277 "10°% on the one hand
and 11277 ?100 and 713277 "1w on the other hand even though the 9p%p of 1w
11217 is greater than the 21p%p of 11277 "whw
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"YT NNT " IR TR NIvoIn

By 12 901 B INRWT AP BN NS 'INRa PRI 1 MY RTT OINY T'R2
ROR 0K 779990 1995K 017 "9 DA 2''02 19 MR 2117 R2DIRT 01 D RPIT IND
"B MORT W'Y T TN RITT O IMWYY MOKR J1297 whw 0"y n1 v

9P TR O DY RDY R

1) First nnTpn

a) The greater the level of starting %17%p the more 12non it is that it’s 7 to be a0
TRMIY

2) Second nTpn
a) This table summarizes different levels of o>>1p%p

21P9p nAaTA
2173997 RDPNRT AR | 1
3-5 m17 up 11277 MOK | 2
2-5 7m7 jop T ww | 3
0P %7 13277 MPn v | 4

3) Third mn7pn — nvw of *o1 ' as explained by the v w of 220p Xn2
a) °ov ' holds that
1) X117 ' teaches that
(1) it’s °na to be axmIv 7201 Lo RNPNRT WOW
(2) but it’s mox to be axmY AP0 to 13277 WL

if) and that’s why for v 7170 at 1 avw in the case of 2°kn " it’s also Mox to
be mxmL 7201 tO an 11297 MoK

4) Fourth mnpn
a) xwp of the xamxat :5 77

i) ywur " in the Xn»12 of P50 7% 791w n°an says it’s MOX to be ™70 NN &nvn
72

i) Yet o ' in the mwn at .7 77 says that ywi " holds that it’s 2w to be a7w
90 0 with 70 0

b) y1n

i) The xn>>12 of poo 7% 79w n°an sets out the vw of ywyi ' as understood by
"0 " that it’s TOK to be 2°7°2 ™%n 7PN RPvA

i) °0v "™ in the mwn on .7 A7

(1) sets out the mu w of ywn " as understood by nwaw " that it’s 0 to be
0°7°2 ™0 7N KL

(2) to teach that even nwnw "
(@) who says that ywi " holds that it’s 2w to be 0722 ™%n 910 Rnvn
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(b) agrees that Yy ' is 10w
(i) to be nxmw oA to a 13277 W ow to make it a aw
(i1) or to be R A°0M to an 13277 MoK at " ww to make it a 1w
5) mooin — comments of X"wnrn are set out in [brackets]
a) Nwp

i) We’ve established that yw i ' as understood by °o1 "3 holds that x1ar '3 says

it’s MOX to be XMV 7°01M to 13277 *w oW to make it a »aw [and that Pynw "
agrees with >0y ']

i) Based on the table it’s a 10w 75 that it’s 710K to be 7x&mw 7°014 to 13277 ™7 to

make it a »3w because the 5% of 11277 ™90 is less than the :p%p of >wdw
11277

iii) So why does >0 "1 [actually 1wnw "] say in the mawn that it’s Ann to be qw
90 710 with 700 0
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NN"MIIXT AXNIO T71 2" TN

BP0 AT RDT DIRY 1D 07 IR PPRK 9"Y KUK 1D RNPMINT NP T 772
IORWR KD 2D MWPN MNORY RAVMIRT IR T2 7T X7 oOPm PR N7 YN
IR 2OMR RAVD PRRWR DRIV DD RTT PR VY RNPMINT INDW TV 7O 1waa
TR A WA TR MISWRY KRR DN RRLR DOIR PR 7''RD 30 2R 112971 KON

217 RNMINT

1) First nnTpn
a) wphwn

i) TYHR 0027 07277 ORMY [P0 2 P2 R "D 193] RNPTIRT ARAIVT ToN2 PvInn
YT M

2) Second 7P

a) °xn " holds that 131277 02K X102 PPWH NRMY
3) Third 7P

a) 1277n 1200 NPAR PRWH RALA 7100 DR 0197 9D
4) mMooIn at XN>TINT ARAW T AT

a) noRw

i) Can wpb v say that the case of x1°a1 ' involves a xn>»rT *w>Hw also for the
TnRT 187 that 2018 Xnvn 92X PR

b) Possible 721wn
i) presumably this is impossible since

(1) if 5038 XnLA 92X PR the only way the xn» K7 *w>Hw could have come
about is that *w°%w 551x was xnv1 by " ppwn

(2) And we’d have the ®wp that

(@) based on ">01077 52" the Ppwn also count as 11217 WX and So are Xnwn
the o1 not only to xn>>x7 *w 5w but also to 3277w

(b) and there is no 79017 when the 52 is later made 11217 *aw (since PX
901X Xnvn 2IR) by 7voa1 to an wRa Yo

il) Possible 72ywn dismissed
(1) wp% wn can say that the nawn deals with a time before the 7901 of S01977 52
5) X"wann
a) Xwp

i) for 1°xn " the case of &1 "1 can’t involve a xn»x7 *w 5w for the xT 87
that 9218 ®nwn 9218 Pr even before there was a 77013 of 201977 92

i) Here’s why
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(1) Since 7°xn "1 holds that 731297 2> Xn0Y 1PWn NRAW it can’t be that the
WIOW Was Rnvl by ppwn

(2) and because ®n*»7I87 7218 RaLA 22X PX it can’t be that the *w 5w was Rnvl
by 179518
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VMT NI TN

RD 773797 3192 5" 90 10 IER WD RNMVMINT NP TR B9 up1T KT 7''R2
N2 1277 IRMW THY T 1R DN IAPD 'INT TR IR™MIVR MO HHD 19
9™y 199 PR 02T ROR IRMIVR MO T 71T b

1) mnpa
a) For the 7vw of na0p X»1
i) °Xn ' says that
(1) xran ' deals with 131217 *wsw for which there is a oo of R
(2) nRPWH NONX PRTA

(3) So the 9037 proves that for 7717w 7170 that’s 1327771 MR at " nyw there
can also be a nooy7 of nxmw

2) nmooIn as explained by xm 7"xa X"wonn

a) woph won says that 7xn " derives his 17 from ywi " in the X2 of m1awiw noan
172

b) Because 7°®n " can’t derive his 17 from x3°11 "1 for two reasons
i) X111 " deals with Xn»IRT ARPIWY “WOW
ii) =°%n "1 holds that axmw? MO°R PR PR
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10 71

nNTIN 'XN 2N 'X XNa

RDY97 "10 STINRONBR 7R 1D 2199 9" RIRD 97 7 ONR VR RAA [2 Ty 1w nT]
R DR BURPY DURP PR 7R 2 920 RITT ONYTINR IRD 01 M7 Ro7 nonb
"M27 Y 72N 21 90 "9 1 797 KD D''RT RIARP 1772 RIN 2" D'RY 7TRR

9Py 5B A nARN PNNINRA TR BT 'Y

1) mwn

2)

3)

a) X'

1) IRMILIT AR RAVIV WIAT QY WOLW DOWTP W MWD WA KD O3 DWW 0NN
TMWRI WY

i) 1w My whw kMY 1901 D Y AR
b) X2°py " P00

i) D RPY RPVIY 32 20D WL RITW TN 1AW PO2TR 1IN RD D070 YW 0N
W IMWYS SWHW NRAIVY 19°07W D DY AR

C) TRA"M
i) 7RALI OV 13277 MOX RAW 77TV AN POMW N0 272 N VWA WK 1TAY 07127
i) 70 1N% PRAA T IDWAY D DY AR

d) sor'

i) PRAEAT ™Y IR YWIT "M 2R 1Y) YR Y MYOR M 2T AT RO AP PRR T T
[0 PRAYA 7RI "N

XN>72 0N .0 A7 at Ty 910
a)  RI? M7 NTIT PR 0P M MR

i) "7 77 %Y oRY AP0 92907 17 099 K10 T 70 5V OR] 17V IR DY I man 17 vawow
[7372 7212 192 NY N1 RPY

i) [RPLT oY M1PN7 AW IR PaR [ARN0 7100 PRAVAT] 0TI 1R AR
Twnn of the X
a) wphwn

i) xn " derives his 17 from a xn>>12 of Ary°ox " and v " and not from '
X1 in the mawn

b) xwp

i) We’ve established that *o1 "1 in the Xn>>92 says “&1% 7m17 1727 PR because the
171 of PR " isn’t M7 to XA M and R2pY

ii) So it’s ynwn that 7°xn " relies on X1an ' and "“X1% 7217 1737 X refers to the
“X1 that 2°x» " brings from x°an "

C) y™n
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4)

5)

i) Ny IRG o '

(1) »or " at first thought that 2°&» " relied on X111 "7 and that’s why 01 '3
says first "X1% 717 1737 PR

(2) ~°xn " then explained that he actually relied on the xn>12 of =13°%% " and
YT "

(3) *or " then said that 7°&n " can’t rely on the &n**12 either because 11X A&
R Rakylal

Twnn of the Xna
a) "n7 " according to M "

i) =°Xn " in fact derives his 17 from X117 '
b) xwp

i) Then the 1w° of the mawn is a Xowp

(1) why — after o1 '3 says 7177 X°77 7°K — does *01° " in the mawn proceed to
explain Yy "1 1oR ' o

(2) Why is the &n»92 of ywy " ryHx ' relevant to 2oxn ™
TN R 0377 R 17 R"wIn
a) Nwp
i) Why can’t the X7n3 here too answer that

(1) “ny7R X7 01 "1 and he thought at first that 7°x» "1 was relying on the
xn*92 of ywi " ok M and that’s why *01° " answered that it’s X7 71K
n7a7 to rely on the min»aa of ywi "1 ryHx

(2) And it’s only afterwards that 2°&» "3 explained that he relied on &1°117 '
b) v
i) Ifso
(1) »or " said nothing further after 2°x "y answered that he relied on x2°171 '

(2) and the mwn should have mentioned the y17°n of 7°%% ' to which >0y "
had no response

41



"myu? " a"T e

71297 SIRPIY NDOIND 19 P 11D 790 NIRT K192 1D onpub 3" ' T2 o"'wena
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:2'117Y 1207 1R WAT WY A1 PRRwR Y''YT 11207 IRM™IY NEoIN

See 11277 AR T 7"
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'myoY 'orr 1 a"1n

BOIN RAUR DOIR PR P09 R R 1T "D P9I 02k 12 01 ' 7' msen
STPRAMIY YIMTT PR N9 Rt YT R RN B ow mpwn 1T "'y b
N7 o012 DR 0P AR YISWRY K2 '3 HDIN2T PR RPAUVIW MHo2 RAVIR DDIND KRVl
FIRMIWIT AR KON RAWI 9D PR N7 IW 990 "'y AR 7RI YO0 DOIN Run DN PR
'R0 73129 20%Y MY ARY 20 2R PRRVR PRwR PR KT I Ppwn 'Y any
RORNIPIT IR 729 2OIY NRMMW POV KD PUIAA DaR wIpa w1 9w 'oinn
197 MARP VDR 9T AR P17 K2R 21T 7190 7772 w2 921 NIDOINAW RNRP
ST ATINDR IPOY INAR ROTT RNVMINT PPRR IRBY P17 R2VR 1207 onvn
T2 WPN T KDY KAV Y RDMMIRT 210D D NRT 4T DD RAWPY vann '
ST TR WRN KRR OWDIT AWK A ROR RYLD T PRT 01 D RpOYR

2'117Y 9D ARP AL TWDIT TIRWN

1) First nnipn
a) '3 'R RPN
i) RN 1IN WK [1P91] 92 1910 OX 0 219° WK 070 090 9
b) Twnnat 1% 'R RPN
1) XPTRYM
(1) Rnw oon PHY K12 WK HIRY WK DN 2on
i) X7 XD
(1) Rnaw2 °92 D02 WS WK Apwn 9
2) Second mnTpi

a) NPy " is w7 the Rnwe in the Xw with »¢ 0o to teach that 1w %o is Rawn
0°InXR to make them wow

b) X2°py " is also w7 the xnwe in the xo°0 with »7°% nino to teach that Ppwn nkmw
RNPIIRT 2R KL

3) Third 7P
a) T°Rn " says that 13277 020K RV PPWH NRPY
4) Fourth mnpn
a) mwn
1) RPI™M

(1) XML 2R XAV WA QY WOHY DWTP WA MWD WINI Y 0230 YW oy
TR WY

(2) “3w Mwy? wHw NRAIY 1901 D Y AR
b) R2°py " a0
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i) D RPYI RPVIY T332 20D WOOW RV 7NN AW P22T9R 1IN RD 00170 YW 0NN
W IMWYS 2109 WOHW NRMAIVY 19707 D DY AR

C) T°Rn " says that nooa nRnLI QY 7TV TN POV
d) -ov ' disagrees with 7oxn "

5) X
a) woph w in the Ripon of the X

i) "omaaTn" of rn M refers to the xn>>12 of ryoox " and vy " on nhan
72 AhawIw

ii) "ov ' disagrees because the xn>92 deals with 1211 70577
b) qam '

i) The np1onn between xR ' and >0 " applies only at 'y 7yw when 57370 7m0
is Mox only 11277

i) Butat 't nyw when the MoK is Xn>>X7 even *01 ' agrees that ;170 oW
RN 7PN oY TN

C) TR, by n '

i) 7 "1 holds that x1°am ' deals with where axm0? >w>Hw was Rnv1 by 1w ppwn
and says it’s 0 to be nxmw 7 0 to the axmw? *wow to make it nxmv? "W

i) And this is the npyoma of 98 ' and so» " at Y yw
(1) "277 2NR RAVD PRPWR DRIV IMRT PHYE? RN "
(@) so the nooi of X123 ' is from 31277 *wHw to "w

(b) and is similar to y»r nann for which there’s a 719017 from 13297 M0°KR t0
w

(2) "RNPIRT DR RAV? PPWH NRPIY WART pyn? o1 "
(@) so the nooim of X121 ' is from Xn»RT *wHw to 1w

(b) and is different from ynr niaan for which there’s a 79017 from M0°KR
11297 to RNMRT

iii) But at 't nyw even *01° "1 derives from x1111 " that for y»ri 7man there can be a
79017 from Rn>>7RT MoK t0 "W

6) Mmoo at x0T
a) Xwp
i) Why doesn’t "n7° "3 explain the fvw of jam ' this way:
(1) Neither 2°&n " nor "o " relies on X117 "
(2) instead

(@) ~xn " follows the nv>w of w*p% w>n and derives his 17 from the xn>>2
of YWy ' on fMaww nan
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(b) and >o» "1 disagrees because he says the xn>92 is based on "1 70973

(3) And the reason that >o1 ' agrees with =°x» "3 at 't nyw when the MoX is
XN»7RT is based on ®2°py " who says in the nawn that there can be a moon
from Rn>>7I87 7109 WY to W

b) v

i) If 9°Xn "1 hadn’t derived his 17 from &am ' at Y nyw we would have assumed
that no nRT 187 IS IRMIVY NOK AT even at 1 ayw when the MoK is XN»RT

ii) But
(1) Once 31 " as explained by ""»7° ' establishes that a°x " is M0°R 7™
RmvY to derive his 17 for 1 avw from x3vam

(2) We can say that

(@) *or " also holds that x> 20°KR 1177 and that the vw of xn M is
correct based on x2°py " for 't 7vw when the ynm M0°K s RD*KRT

(b) And the np12rn between =R " and *01° " on " nyw is based on their
disagreement on whether x2°py "3 holds that o> anx Riav? Ppwn kAW IS
73297 OF RN*>INT

(c) Namely

(i) 73297 AR RPLY PRPWR DR DY N°RT SYR? PR M and that X20py
agrees so

1. because x2°py " is 7°01n to X1°117 "1 and obviously agrees with "
iyl

2. it follows that x2°py " holds it’s 2012 to be xnw A0M to a
11297 nxmwv and the same would apply to an 131277 MoK

(i) RN™MIRT 22X RAV? PPWH NRAW 9 NORT nvp? 20 M and that
N2PY agrees

1. But although x2°py "1 is 7201 to x2°11 ' and obviously agrees
with 103171 '

2. Still it follows only that &2°py "1 holds it’s 2nn to be 7pom
TRMIY 0 a RN™MIRT 7R and there’s no proof that the same
would apply to an 71297 MoK

7) mooin at "ryw? 2o "7 as explained by X"wonn

a) TP

i) ov ' himself later in the X>»0 agrees with 9°x» ' that 2R Rav? Ppwn DR
11277

il) so it must be that in our &0 >0 "1 says only that &2°py "3 holds that nxmw
RNTIRT DOINR RAW? 1PPWH

b) Earlier xwp by msoin
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i) since the X1nx says "nyv? 9°8n ' and there the X3 means the personal
holding of =°&» " as well as his understanding of the nuw of x2py "

i) Why does the xn3 use the same phrase for *o1° "y when we know that o1 '3
himself agrees with 2°xn "

8) X"wann

9)

a)

This ®wp is answered now that we’ve established that

i) the npomn between 2°x&n " and oy ' depends on the correct understanding of
X2pY "

i) and it’s not relevant whether 2°&» '3 and °0 ' personally agree with X2°py '

Twnn of mpoin

a)

b)

d)

ROwp 1o PR "M

i) We’ve established in the n7p that X2°py "1 holds o nk Xnub Ppwn N
Xn>7x7 based on a w7 of X2°py ' that Xaw in the X9°0 is read *7°% nnpa to
teach that ppwn are Xn>7IRT 2R RHLA

i) This supports *o1° "™ and is a X*wp to PR "
'aRbY

1) °Xn " understands x2°py " to mean that &»v° in the X5°0 doesn’t refer to the
R of ppwn but instead refers to the 7o in the Xw» to teach that they can
become xnv only after wai7 by o°n or other ypwn

Xowp
i) Now
(1) Although 2°xia "1 says that &2°py " holds that 131277 £°nR Rnw? PPwH RNV
(2) ~°xn " agrees that x2°py " holds that 1°pwin can be axmw Hapn

i) How does 2°&n " understand how &2°py ' derives this 17 if Xav> in the 890
refers to 192I%

710 of oW o Ao 1020 as explained by X"wann
1) °Xn " holds that x2°py " says that
(1) by teaching that 1217 can become a *whw

(2) the xnv> in the xw>n also indirectly teaches that ypwn can become xnw
because the *w°5w must be Ppwn that was xnav1 by 1w 7o

i) Here’s proof:
(1) What is the »aw that’s xnwn the 1912 *w o in the p1oo of kv

(a) The 1w can’t be Ppwn because 7°x» ' holds for X2°py " that Ppwn
aren’t XN»TIRT RKALA

(b) The »1w can’t be a > because xn>»x7 only an IR AR can be xnun a
L)
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(c) The "1 can’t be 71291 o2y because the axmw of 711271 o°¥y doesn’t
apply to 7

(2) It follows that
(@) the "w is P20
(b) and
(i) since the »aw is P72 it must be that what is Xav1 as a “w>Hw is Ppwn

(ii) because the moo deals with 1911 and we’ve established at .7 77 for
XnHY 5712 that 17217 7018 Xnvn 71X PR
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X"y 10 Q71

NINY INX ' XNA

1D A WA IND IR TR WY PARY NRMIV DAR 1D DRI MR v RN [R TRy 0 n7]
7Y% RPDI TARY NRMIY D2PAT IPRRY W7 T PR AT RIAWS DRIAWT AR AR 19K
PR ML A" AR TOINT WD PR Y 2" Y 1T PRINR MR TRY IWT KRR
WP Y27 D'RT MIPITY TORY INMAWI PR ORI PPRAT RRUR DDINTT RIP ARPT KRRV
T9IDR WP KAV 22 YAV WK M2 IRD NPT YRR ROOR RIPT 71900 "0 1 0T
5920 N9 KON M1 1" IND2 MIPR KRRV P9IM2 A7 7''RR X170 NARTT PR KAV PRI
NO7772 77''0 RAYY WINT XD PUIR MROW 9 19T 901 "D ROR 1R TIUIR R wrpa

HrAR R O (i)

1) First nnTpn

2)

a)

b)

79 'R RO 0N Poow and Ppwn in a wrn 2o that was &nvl by a yaw
i) Xu™
(1) xnw> 2o 1LY 82 WK HIRY WK DN 91
i) X9
(1) x> *H3 o2 anws WK IPwn 9
"0 T RPN

i) DoR> XD XL 922 ¥ WK [wIp] wam

Second 7P

a)

b)

c)

X2°py 1 is w7 the ®nw in the Xw with »°% nno to teach that »1w 721X that’s P2t is Rnwvn
o°nX to make them “wohw

X2°py "y according to *o1° " is w7 the &nw» in the Xo°0 with *7°¢ nnd to teach that nxmw
RNIIRT D°IMR RAW? 1PWH

X2°py "y according to 7Kkn "

i) isn’t w7 the Xnw> in the &9°0 to teach that Xn>>RT DNk Xnw2 PPwn nkmw and in fact
holds that 131277 20X &1L PR DM

i) instead x2°py ' is w7 this xnw° to teach a 17 regarding “w>1 that isn’t relevant here

3) Third an7pi

a)

mooin at "nyv *0 M "7 at 1w 7 as explained in greater detail in the prior 12>7
i) "9RW to RN "M

(1) Since x2°py " according to 7 &kn M isn’t w7 the Rnw» in the x9°0 to teach nxmw
Pwn

(2) How does x2°py " derive even that ppwn is axmv 22pn
i) m2wn of o°%wyn Ao 1
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4)

5)

6)

(1) We’ve established that X2°py " says that the &»nv» in the xwen teaches that there is
WY PN

(2) For a reason not relevant here it must be that the >w>5w 1911 is Ppwn
Fifth anTpn
a) presumably
i) 9Rmw says that Ppwn are Xn»7XT I8 1727 based on "xnw" in the x9°0
ii) but ppwn aren’t 2R XnVA because PX MY isn’t wNT the Xnw> with %% nno
Riab
a) Xwp to Hxmnw

i) Since Ppwn are XnN>IRT IRML 22pn based on "Rnw" it’s obvious that 1pwn count as
"NDU"

i) Then based on 758> X7 Rav 902 v WK [wp] "wam" the ppwn should also be &nwn
ooanx for wp

X"wn
a) Nwp
i) Maybe Pxmw derives that ppwn are axnaw 2apn based on the 715 of o°Hwren O WA

il) so that there is no ,os that says directly that ypwn count as "xnv" and it follows that
Xnv 902 ¥ WK Wwam doesn’t apply

b) v n

i) X %52 va wx wam would still apply because the 71209 of 5w Ao w27 in
effect teaches that ppwn become "xnn"

c) Nwp
i) At :m 7 the X relies on a amm 9p to teach that w7p can become a nxmw? *v°27

i) We’ve just mentioned that 82°py "1 holds that %11 can become a *w°5w and we’ve said
that this proves that the *w>%w that’s Ppwn counts as "xnv"

iii) Why not derive that w7p can become a °*y°27 from xnv 922 v3° qwK wam where the
"Rnp" is a wrow

d) yrn

i) In fact the mym %p is necessary only for *o1 "y who disagrees with x2°py "1 and says
1°711 can’t become a wHw
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mYON M Ui " T "wn

17291 PRADN ATRIDT TANKA RY PRRR RN DaR 110 on Pt ' ra v wnna
HY R2Y MWK DDINTT 551 WD MIOR RIPT KW TR 1020 00T 3 DY AR B''oy
TPWR DY T PR INPIUR KPR W72 MR KD A PR D01 RIPT XD DaR 2
PHY R WK TPWR 501 IN 292 1Y K2 WK DDINT DY WOIN DIWHTNR A1 NP
TARIAY 27 MW7 KRR TN ROR KD IRV KUK IR KD KRRV RIPT RDOWD 1

'Y 2R RD20R 0

1) First nnipn
a) 27 says that ppwn aren’t Xn»MRT IR0 22P1
2) Second mnTpn
a) Xp
i) Xu™
(1) xnw> oo 1LY K12 WK HIRY WK DT 0
i) X9
(1) x> *H3 902 anws WK IPwR 9
3) Third 7P
a) 21 says that xnw in the xwn teaches that o°n» are 2 won for axmw
4) Fourth mnpn
a) o°n exists both as Pwyon and P
b) pwn Rw exist only as 1won
5) Fifth npn
a) 7 oo are more 2°wn than pwon oon
6) XM
a) Nwptoan
i) X in the 85°0 ought to teach that 1°pwn become xnv

i) And it can’t be that this Xnv> in the x9°0 teaches the 17 of 2w because that’s
what the xnv> in the xwn teaches

b) y1°n as explained by >"wA

i) The xnw in the &w and the x»w» in the &5°0 both deal with w377 — one deals
with 121772 and the other deals with 1wY%n

i) Namely
(1) the &nw> in the X1 that refers to oon teaches that 172 oon are °won
(2) while the xnv> in the xo°0 that refers to *3 952 deals with Pwion
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7)

8)

(3) and because the &0 refers to nnw» WK pwn %5 we assume that the xnw in
the xo°0 refers to oo» that happen to be Pwion as well as to ypwn “xw that
always count as Pwon

c) Nwptoan
i) Prwonon Pwom
I

a) The ywpn asks his x°wp only to w2n o because they’re not as 2°wn as o
Fkm=Alafa)

b) The jwpn accepts that ppwn “xw are 2°won even though they exist only as Pwyon
X"wmn — K02 of >"'wn
a) Nwp

i) Since the ywpn holds that the xo°0 is needed to teach that ppwin are &nv

i) how can he accept that xnw> nnw> WK npwn 21 teaches that ypwn Txw are
7won at all

b) v n

i) The ywpn derives from the &nw in the xw a "wai 127 both for oon and xw
1Pwn because he reads the pos this way

(1) ™93 922 nw WK APWwn 931 XY 27 1RV R IWR 70N 200"
ii) But
(1) Since the xw>1 and the xo°0 are read together as one

(2) it’s not 7anon that o is referred to twice — once as "a»" and again as a
apwn that is anw»

(3) And that’s why
(@) the ywpn applies the reference to oo» only to 1727 that’s 2wn
(b) and the ywpn asks only "wan *» Pwon 2"
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